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���� O��G  0.329 0.103 0.747 6 �9F  0.740 0.338 0.023 38 

�� ������  0.438 0.156 0.572 16 dL�
#  0.583 0.225 0.342 28 

�\YP� ��  0.172 0.128 0.814 4 4%"#  0.538 0.225 0.374 26 

�I"G ��Y�9��  0.758 0.338 0.010 39 d\��  0.752 0.245 0.185 35 

�� nbL  0.581 0.310 0.188 34  ����  0.750 0.267 0.146 36 
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 ���[ 	 9�(  0.384 0.160 0.605 13  ����!"�  0.773 0.338 0.000 40 

 �H�$  0.424 0.130 0.629 10 ���	�� J�68%9]�  0.736 0.242 0.202 33 

�����;  0.510 0.235 0.377 24 ��F �\Y  "D�  0.504 0.161 0.516 19 

�L �"� z�A#  0.556 0.225 0.361 27  �7g  0.749 0.272 0.137 37 

  
Q�L)2:(���� ���� \+� %OP�+� ���� ��.���
� �� �	���
� �
��� ��  

          �=� X�%=G� ��=<L�b� �	 =� ��D��=��	 �� d=
 �=D 	� ���=6�� �
��=��	 j_�"� 	� ��
01 &6
� �b� ��	�� ���� BH� J
� 	�
�I(	 �%"�  4%� j
�_ �� �D����	VIKOR %
��K .     �
�=A� �
�=�� �=� ( �=� �=�  &=��  �%=�[ �   4�%=�)11 (  4%=�VIKOR  ��D��=��	 �

 �z�gnbL ��  dL�
# � ����1 "D� �����!"� ��D����	 � ��
01 &6
� �b� J
�(Z�� �	 K �J�
�1 J
�(    ��
0=1 &=6
� �b�
�	 � ��D����	 J�� 	�  �	�� �	 �<L�b��� %"#��.  

=
�>)11 :( =�� �	�1� [	���VIKOR  ������ �	���
� �
��� �� ��	�� ��	� \+�  

���
�  S R Q  %)R�  ���
�  S  R Q  %)R�  

���[ �L�  0.549 0.180 0.530 19 �����  0.272 0.120 0.827 6 

����1 )���9��(  0.447 0.270 0.426 22 O��	 |�IY  0.679 0.248 0.316 28 

����1 "D�  0.811 0.338 0.058 39 � F J68  0.370 0.120 0.762 11 

z�g  0.138 0.102 0.949 1   � � $  0.361 0.113 0.782 8 

��� �	 L  0.594 0.233 0.400 23  �E� ���8 z��#�  0.438 0.149 0.662 15 

���[ Ox�G  0.283 0.113 0.833 5 �	 K  0.547 0.196 0.874 3 

��� F���� J�68  0.727 0.255 0.271 30 d9F  0.278 0.095 0.870 4 

��7�L ��M�  0.618 0.243 0.365 26 C"$ �<\G  0.686 0.267 0.783 7 

������  0.728 0.315 0.156 35  � �<\G  0.387 0.215 0.570 18 

 �� �Ls  0.337 0.173 0.684 13  ���$ O
�$  0.481 0.220 0.499 21 
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�F \$  0.712 0.293 0.209 32 ����1 )%"���D(  0.702 0.270 0.258 31 

���� O��G  0.691 0.267 0.272 29 �9F  0.653 0.240 0.348 27 

�� ������  0.551 0.251 0.396 24 dL�
#  0.840 0.308 0.096 38 

�\YP� ��  0.528 0.196 0.513 20 4%"#  0.779 0.315 0.122 36 

�I"G ��Y�9��  0.780 0.270 0.207 33 d\��  0.449 0.144 0.664 14 

�� nbL  0.255 0.075 0.923 2  ����  0.361 0.113 0.781 9 

 ���[ 	 9�(  0.574 0.251 0.379 25  ����!"�  0.899 0.309 0.056 40 

 �H�$  0.362 0.120 0.767 10 J�68%9]����	��  0.488 0.166 0.598 17 

�����;  0.782 0.315 0.120 37 ��F �\Y  "D�  0.792 0.285 0.171 34 

�L �"� z�A#  0.403 0.180 0.626 16  �7g  0.401 0.149 0.686 12 

  

  
Q�L)3:( �� �	���
� �
��� �� ��	�� ��	� \+�%OP�+� ���� ��.���
�  

  

 � ���K	 �
���X�K �� X�K �� ���� �M�6� ��
�� J�L�� X�K 	� �$ %D��%#�	��     :
�=o ��	�� �=$ &=�� ���l�G� yF�# �4%� 	�
 ���6I9D801/0 yF�# ��
01 &6
� ��D�� \$	 _� ��%#�� . 	�%M� �$ %# 4%� �b�]� yF�# �X�� �\8�� 	�R  ��927/0  �

 	�%M�R2 �� 	 _  �� �\IG ��
�� �� z����860/0  �
86 &��
 B
���� %;	� .       �=L��<� �	�� �Y�=9��� yF�=# �=�G� X =� �=\8�� 	�
�� 	�%M� � #R  ��913/0  	�%M� �R2  ��912/0 &��
 B
���� .     	�%=M� �%=IL�$ �=�
�� ��	� �=� �F[ �\8�� 	�R    �=�1   J�="�9D �

 	�%M�R2  ��1  J
� �"<
 &��
 B
����91  ��
��100 �� J��I( �	 ��6��� ��
�� �� ~ ��� ���
	�� �� %;	� %""$.  
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=
�>)12:( ��.��]��3�L���
  �����4� =�� �� ��]�� �. ^1� 
F�4 %� F�4   

  
�8���  

 ��
���%#�	�� �\8�� �D 	� 4%� �� 
      ���6I9D :
�o

(R) ���K%"g  
J��<( :
�o  

)R2(  

 :
�o
J��<(  

%<(
� �%#  
	��<� ��bF 

4�� X�K ���l�G� .801a .641 .640 .26922 

X�� X�K  �b�]� .927b .860 .859 .16825 

X � X�K  �Y�9��� .955c .913 .912 .13317 

X	�Ag X�K  �%IL�$ 1.000d 1.000 1.000 .00000 

 
��9D  4�%� �$ �� K)13 (�� ����  :
��o ��9D ��� �%D��%#�	�%����� &�� .��9D       �=� ��=�� �=
� 4�%=� �=$ �=� K   ��=�� �� %=D�

yF�# ��� :
�o �� ���l�G� yF�# ���
01 &6
� ��D434/0 J
����� �Ta(��  ��� :
�o �� �Y�9��� yF�# �334/0  ��9$ Ta=(�� 
&�� ��#�� �
����	 ��D	� ��F ��
01 &6
� �� �	 .  

=
�>)13:( �����4� <	��_F�4 %� F�4  �`�� ����IaR�� Q���� ��.��]��  

Model 

Unstandardized 
Coefficients 

Standardized 
Coefficients 

t Sig. 
B 

Std. 
Error 

Beta 

1 
(��6���) 1.889 .055  34.175 .000 

���l�G� .461 .018 .801 25.557 .000 

2 

(��6���) 1.086 .048  22.561 .000 

���l�G� .387 .012 .673 33.142 .000 

�b�]� .340 .014 .485 23.919 .000 

3 

(��6���) .577 .051  11.237 .000 

���l�G� .346 .010 .601 35.796 .000 

�b�]� .309 .011 .442 27.045 .000 

�Y�9��� .185 .013 .247 14.787 .000 

4 

(��6���) -1.071E-15 .000  .000 1.000 

���l�G� .250 .000 .434 303391083.921 .000 

�b�]� .250 .000 .357 278991423.389 .000 

�Y�9��� .250 .000 .334 254412488.565 .000 

�%IL�$ .250 .000 .352 252219765.143 .000 

a. Dependent Variable:  ��
01 &6
�  
  

  
 �	�%M� � 6$�7\
� � ��[ �
��� |��� �� Z�� ����� 689/2-  ��bF �b� 	� �$dg $ �(  ��01/0 �"<� 	��  �&���� �� (   &=NK

 ��"�9_� �� �	��[ ��]L �� �$99/0  ��
01 &6
� 	� �� � B��� BM� WP�F� ���6�� �
����	 j_�"� �="<� 	��  &=�� .   �=!��� J=
�
 �� &LZ�%�x�(  �� �"I� BD�e1 ���J
� �$    ��
%=7
 �=� �	���"<� WP�F� ���
01 &6
� 	� �� � B��� �E� �� ���6�� ��D����	

%�	�� .�� @	�IY ��
� BM� &�� @��N�� ���6�� �
����	 j_�"� ��
01 &6
� 	� �� � B���.   
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�>)14 :(���0��'	
 ����; [	���  

  �� 9� �<���   �I(	 J������ c 9!��D �I(	 Z  �	���"<� �b�  

�� � B���- 
��
01 &6
�  

�I(	�N"� ��D 207a   68/177  36780  

689/2- b 007/0  
�I(	 &I{� ��D 148b   45/178  26410  

R���	 13c       
?9� 368       

 a. ��
01 &6
� < �� � B��� 
 b. ��
01 &6
� > �� � B��� 
 c. ��
01 &6
� = �� � B��� 

%`��� ���4  �.��1�C�� 
  

�� ( ��	�� J9o �( &�� ���6�� �
����	 j_�"� ��
01 &6
� 	� �� � B��� BM� ��	�� BD�e1 J
� W%D  ����=l�G� ��D
�Y�9���-  �Mb"� �7
s L $� � ��"D���<L�b��	 �      �%="9�� ( J=
� �� d=
�D 	� �	 �� =� B=��� &I{� @��T�   %="$ �=�	�� �=D . 	�

yF�==# �==�	��     ��D��==��	 ���==6�� �
��==��	 j_�=="� ��
0==1 &==6
� 	� �� ==� B==��� B==M� ��==D�==<L�b��	 �yF�==# � ��==D
���l�G�)�� � B��� (� $ ��\YP� ��D����	  �  � �=<\G   =�  � O=��G  ��=�[    J����=�� �=�00/4 �94/3 �80/3  �66/3   � J����=�� J
�(Z�=�

 J������ �� ����!"�  � �9F ��I"G ��Y�9�� ��D����	00/2 �00/2 �00/2 J�
�1yF�# 	� � J������ J
�(  �Y�=9��� ��D–  �=�"D�� 
)B��� �� � (��D����	  �z�=g  ���=�1 ) ���=9�� (�  �=L�  �=�[� �66/4 �55/4 �50/4     �� =9� :=6$ �	 �=I(	 J
�(Z�=�   ��D��=��	 � %=��

 J����=�� �� d\�� � �E� ���8 z��#� ��I"G ��Y�9��  ��=D50/3 �50/3 55/3   yF�=# 	� � �=I(	 J
�=�9$   ��=#�%A� ��=D–  ���=�	� 
)&�P�) (B��� �� �(��D����	 �Mb"� ���6�� �	 ���� ��%D� �$ ��D����	 ��\YP� �z�g �  =�1 ���)���D %=" (  �=� J����=��  ��=D 

00/4 �00/4  �83/3  �� ���	�� J�68%9]� � �7g ����� ��D����	 � �I(	 J
�(Z��J������ ��D61/1 �77/1 �83/1    � �=I(	 J
�=�9$
yF�# 	�&6
� ��D  �b�]�)�� � B��� ( ����9�� ����1 �z�g ����[ �L� ��D����	50/4 �44/4  �05/4   ���=��	 � �I(	 J
�(Z��

# �����J������ ��  ����!"� � dL�
��D05/2 �50/2 �55/2���� }�l�F� � F �� �	 �I(	 J
��9$%��. yF�=# 	� �   ���=l�G� ��=D
)��
01 &6
� (   � ��=�$ O
�=$ �z�g ��D����	 �=<\G   =� �33/4 �83/3  �80/3        � 4%"=# ����=�1  ="D� ��D��=��	 � �=I(	 J
�(Z�=�

J����==�� �==� �����==; ��==D83/1 �00/2  �00/2 yF�==# 	� � �==I(	 J
�==�9$ �Y�==9��� ��==D)��
0==1 &==6
� ( �z�==g ��D��==��	
J������ �� ����[ �L� � ���	�� J�68%9]� ��D72/4  �72/4 �50/4  �dL�
# ��D����	 � �I(	 J
�(Z��J�68 ���[   �=� �F \$ � ��� F

J������ ��D05/3 11/3  �16/3   yF�=# 	� � �=I(	 J
��9$    �=b�]� ��=D)  ��
0=1 &=6
� (   ���=�1 ��D��=��	) ���=9��(  � d=9F �
nbL �� J������ �� ��D22/4 �00/4  �88/3  �C"$ �<\G ��D����	 � �I(	 J
�(Z��O��G ���[ J������ �� ���[	 9�( �  ��=D33/2 �33/2 

 �44/2 yF�# 	� � �I(	 J
��9$ �%IL�$ ��D)��
01 &6
� ( ��D����	�L�s �� ��<\G �     �=�  z�g � J����=��  ��=D 05/4 �80/3  �
72/3 J������ �� �9F � ����1  "D� �����!"� ��D����	 � �I(	 J
�(Z�� ��D10/2 �27/2  �38/2     }�=l�F� � =F �=� �	 �I(	 J
��9$

���� �� �;�8 �
��� �� �� ( �� � %�� 	�%M� � 6$�7\
� � ��[Z   �=� �=����689/2-      �� ��7g =$ ��=bF �b=� 	� �=$01/0  ="<�� 	�� 
 �&���� �� (  ��"�9_� �� �	��[ ��]L �� �$ &NK99/0           ���=6�� �
��=��	 j_�="� ��
0=1 &=6
� 	� �� =� B=��� B=M� WP�=F�

"<�� 	�� &�� . �� &LZ� �!��� J
�a(%�
  �� �"I� BD�e1 4�� ����J
 �$    ���
0=1 &=6
� 	� �� � B��� �E� �� ���6�� ��D����	

 �� �	���"<� WP�F�%�	�� ��
%7 .�� @	�IY ���
      &=�� @��=N�� ���=6�� �
��=��	 j_�="� ��
01 &6
� 	� �� � B��� BM� .  �=�

 �
�A� �
��� �� (�� &�� �%�[  4%�VIKOR ���� BH� J
� 	� �         �
��=��	 j_�="� ��
0=1 &=6
� 	� �� =� B=��� B=M� ��	��
����6��  �z�g ��D����	nbL ��   dL�
=# � ����1 "D� �����!"� ��D����	 � ��
01 &6
� �b� J
�(Z�� �	 K � J�
�=1  J
�=( 

 ��D����	 J�� 	� ��
01 &6
� �b��<L�b��	 �  �	�� �	�� %"#�� .  4%=� �
�A� �
��� �� ( �� �VIKOR    �C="$ �=<\G ��D��=��	 �
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��Y�9�� �����!"� ��D����	 �  �� � B���  �b� J
�(Z�� �	 K � z�g    �=7g � �=I"G J�
�=1  J
�=(      J�=� 	� �� =� B=��� �b=�
 ��D����	�<L�b��	 �  �	�� �	�� %"#�� .     �� =� B=��� �="��� 	� BD�e=1 �� �;�8 �
���)       �=� @	 =�� � ����=6� � �=���� �=� ��=9�Y�

 ����� � ���
�69D ( ��	�79D � �G T� BD�e1 ��)1393 ( ��
�!� J�� ���M�� ~�I(	� ��!
� �� �� � B��� �$�s��1  �=D   ����
��=��	 �
 &$	����9D �I���   69D �\]� ������� %#�� .  �
����	 ��
01 &6
�  �� �;�8 �
��� �)�Y�9��� ��
01 &6
� (    �  =L �=6�Y �=�
 ���	�79D)1393) (���l�G� ��
01 &6
� (  69D�9� %#��. �� �� ( ������
 ��D  �x�	� �
p ��D��A"��1 j�M](�� ���K:  

-  � ���
	 ������&���� ��	�0K  %"
��� 	������� ��
	     �=;�8 �=$ �	 ���
��=��	 �� � B��� ��<�I_ ��
P� &
�
%� � �
����	
4�� �D  ���G �D  � %���"� X���8� �%
%� �&�� ���!(�� @	 ;  J
 � B��� �� �I�$�(�� %���K	�$  	� ��� ���K	�$    J
 =� B=���

 �$ �<�I_ ��
P� �� �\��M� 	� �%""$ �<� �&�� ��L�� �8��� 	� � "D/�	  ��=D       %="
�9� 	�K��=� �=\]� @�=���!( �=� �	 J
 =� .
 � �D�	 # � X��� d9$ �� J�"�9D�	��D� �D        �i =�7� �	 @�=���!( J=
� ��=<�I_ ��=
P� &
�
%=� �� � B��� d��� ��!
� ��

 � "<� &�7L�� m M8 �� �� ( �� � �� 9� � N]� � %"�6��[ �D	���F� 	� � %"D� 	��G ���
	 ������ � j_�"� �
�� ������.  
-  �� � B��� �� ���N����� 	 E"�  uN84��<( ��D &6
� �b�]�  �<� ( &A� 	��Mb"� 	�%
�1  h���6��  
-  ��!
���K	�$ �D  �|P$ ��D  �	��K�� � �(	 �� &=6��  ��=D         �
��=��	 j_�="� ��
0=1 &=6
� `�=M(	� &=A� 	� �=#� �[

� �� ���N��� �� ���6�� h�\]� �� � B��  
-  �� ���N����� ( ��D �
��%�[	� ��!
� � ���6�� �
����	 j_�"� ���l�G� j��	 &A� 	� �<�I_  
-         �=� :=��"�� �s =L "7( &F�"=# � ���	��=�$ i	�=!( � B=��� �	�[��K ���� ��Mb"� 	� �� � B��� @�YP_� d��� ��!
�

�Ke
� ��D �<�I_���6 ۔�� �Mb"� �� W%D ��M(	� h��	���$   
-     B=��� u=N8 ���=��	 	� ���
 !���� ���� �	�%��� � ��	���$ 	� ���
����	 �� � B��� �� ~ ��� ��	� %8�� d
 ��!
�

J
 � � �� � B��� j�N\( ���� �D�� � ylH�� �!
��( ����� /� �[ � �� �. 

  
 b����  

 ��g $ ��9�\� � X��1 ��9�D����)1396( � ?��"� 	�%
�1 �<� ( 	� �� � B��� BM� �i[ z�F�         ���=��A# ��=7L�p i�=lG ���=��	 ��	 =� �=<L�b� �
��=��	
4�� ����
� �	����H�[ ��%"A� � X \Y �\!� �����11�	�9# �39y; �39-48. 

�\Y ��Nbl� ���$��)1387(���A( �
����	 	�%
�1 �<� ( � :@�YP_� @�	�����. 

�����	0� ��=#�A� ���e� ��Z _ � �� � �)1395(    �=� �� =� B=��� @��=T� �           �	�� ��	�%=��� ��=l�G� �=� %=�$a( �=� �G�=# � 7��=�� ���=6D� �<=� (5  �	�9=# �18 �
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